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4B86B~7H78H) 7BR7B~10A7H) (10A7HB~1HA5H)
1 130 = 00 129 £ 1.0 128 £ 0.6 -
2 138 = 1.0 141 £ 15 138 =X 00 -
3 115 = 15 * 115 =+ 0.6 *? 115 =+ 1.0 ** -
4 149 =+ 15 *' 153 =+ 26 *? 149 =+ 12 *4 -
5 159 =+ 15 *! 165 =+ 2.1 *3 167 =+ 1.0 *° -
6 108 =+ 1.1 *! 109 =+ 06 ** 110 =+ 12 *° -
7 115 = 0.6 *' 117 =+ 20 *3 114 =+ 06 *° -
8 142 =+ 0.6 146 £ 25 142 £ 23 -
9 124 =+ 00 127 = 15 122 =+ 00 -
10 110 == 1.1 113 = 20 109 =+ 00 -

* 1 RBEHMT4 A 7T8~7 A8 BTHS,
x2 FREHMIT7A8sB~108718THS,
*3: REHMIF7A8H~10 A8 BTHS,
x4 REHMIE10H78~1 A6 BTHS,
x5 REHMIX10H8H~1 A6 BTHS,
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